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Sample 1

Dear Auntie Rebecca,

Great to hear from you again. | am fine. Sorry for missing Janet’s wedding in September.
Please send my best wishes to her.

I like my new school life so much! As | am in Secondary One this year, everything change
from the primary such as, more subjects, quiz and the school rules. Nevertheless, because of the
covid-19, we are having class online and | am disappointed about it because we can’t go to school
and make any new friends. | wish the covid-19 will go away from us in the future. The teachers are
Tice, patient and kind-hearted. When | ask them any question, they always answer me patiently.
Altr'aough there is a lot of schoolwork, | still enjoy learning in my secondary school and | have
already been in the team of school badminton, this is one of my favourite sports.

Our school organized an English bridging course for us. During this course, our school
teaches help us to use English to talk with others. At first, | was shy because | was afraid that |
would be laughed at by others but now, | am confident myself and I use English to talk with others
more confidently. | am more interested in English as learning English is as fun as playing games.

Christmas is coming soon! If you want to give me a present, | would like to have a book
shelf as | need a book shelf to put my books inside. This can make my room more tidy and | can
decorate my own room. | would come to Canada this Christmas and go skiing together.

Keep your smile always! Send my warmest regards to your mom and dad.

Bye for now. Hope we can meet in Canada soon!

i Yours,
Chris

(P. S. Please give me the book shelf as soon as possible! | have lots of things to put in!)




Sample 2

Dear Auntie Rebecca,

It’s indeed a pretty long time since we both wrote letters to each other. | miss you so much!
I've been doing quite well at the moment, how about you? | really want to come and join Janet’s
wedding, but ’'m quite busy, sorry! Did you take photos of them? | would be pleased if | could see
them! It’s starting to get cold here in Hong Kong, | could always feel cozy breezes pushing my back
and a picture of Janet’s wedding is already appearing in my head, | think she looks majestic! Cpn
you please tell them that | wish their love lasts forever? Thanks! “

Talking about my school life, it’s actually indescribable. I'm in secondary school now and |
need a bit time to adapt to the new environment, | think I'm very lucky because all the teachers
are very lenient, my classmates are very friendly, it’s like a big family! Although | felt stressed out
because of the amount of assignments and the quizes are hard, | think my school life is fabulous!
We start having face-to-face lessons this year as the number of covid-19 case has reduced. I'm
very glad, but in the last two years it was extremely chaotic. | prefer having face-to-face classes
because interaction is increased vastly. | think that in online lessons, we don’t understand what
the teacher is saying! By the way, it’s Uniform Test next week and | have to study very hard! I still
haven’t join any extra-curricular activities yet, but | am looking forward to them. Yes, you're right,
my school organized an orientation day in summer. We got to know more about the school. In my
opinion, | think my school was huge and | once got lost! Overall, my school is very magnificent and
| like my school very much.

For Christmastime, you don’t really have to give a present to me! For me, good health is :
already the best present that | could think of for Christmas. | also want the pandemic to be overuso
we could get back to our normal life. Moreover, I'm also looking forward to going to Canada during
the holidays. Again, | miss you and uncle very, very much!

Lastly, how have you and Uncle been? | would be glad to hear from you! Tell Uncle Peter to
take good care of himself! Goodbye for now. I’'m looking forward to seeing you and Uncle soon. |
will write to you again if | have free time.

Yours,
Chris

ﬂ. S. Thanks for looking at my whatsapp profile picture. It’s a picture of my family. XD)
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Question:

3. Solve the following equations
(a) 2[3—-4(55—-y)] =-9y (3 marks)



Answer

3. Solve the following equations
(@ 2[3-4(5-y)=-9

2(3-20+4y) = -9y IM

2(-17 +4y) = -9y

—34+8y =-9y IM

17y = 34

y=2 1A

Student A Student B

Solve the following equations
(@ 2[3-4(5-y)] =-9y

Z(ymx‘f/);%y

by -
-y =l
yz%%

Solve the following equations
(@ 203-406-y]=-9

2(3-,, @) = -y
6—40'97 = -4y
[ -4 =~y +3y
— 54 =y
7= 3f

Student C

Solve the following equations
(@) 2[3-4(G5-y)]=-9y




Raimondi College

Examination Skills

Mathematics




Analysis of S1 First Term Test Results

®» Average score of mathematics :

»38].6/100
7]
e @\l]@ ©
TA1L S

anyY qudl\s o
P\




Examination Skills

» At the beginning .......

» During the examination .......

» Complete ........




I
First Term Test
51

MATHEMATICS

RAIMONDI COLLEGE
FIRST TERM TEST
2022-2023
$1 MATHEMATICS
Question-Answer Paper

Class: S1ABCDE
_Date: 26 Qctober 2022

Time: 8:10a.m.—9:10a.m. ( 1 hour )
Total Marks: 60

INSTRUCTIONS

1.  There are two sections (A and B) in this paper.

2, Answer ALL questions in Section-A. Write your
answers in the spaces provided in this Question-
Answer Paper. You should write only ONE
answer for each question. If you write more
than one answer, you will receive NO MARKS for
that question.

3.  Answer ALL questions in Section B. Write your

Name

Class

Marker's
Use Only

MC
(20 marks)

Question
No.

Marks

1 (3 marks)

2 (5 marks)

3 (3 marks)

4 (3 marks)

5 (4 marks)

6 (2 marks)

7 (3 marks)

8 (2 marks)

9 (2 marks)

10 (2 marks)

11 (3 marks)

49 112 markel

At the beginning

Section A : Multiple Choice Questions (20 marks)

1.  Which of the following is correct?

A. 3¥=3+3+3

B, 4=4x5

C. 5*=5x5x5x5

D.‘ 63.=3x3x3x3x3x3

Solution

<
3 =3x3x3#3+3+3

4 =4x4x4x4x4#4x5
5'=5%5x5%5

6° =6x6x6%3x3x3x3x3x

The answer is C.

Section B Short Questions (40 marks)

1. Find the sum of 2%,3™ and 7* multiples of 15. (3 marks)

Jo4 k4 [ 1o, 451 S(B)+()
v {H"’t, @

2, Find the result of each of the following.
(a) Divide 117 by 3 and then add 25 to the quotient.
(b) Subtract 20 from 16 and then muMsple Hhe diffstonce l’\j the 5%”‘“—", v
(5 marks)

(a) (%3448 @ 29
7[:*?, @ <

(b7 ({b- w)x:x, ,. @

e N
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Presentation and Marking

3.  Solve the following equations

(a) 2[3—4(55—-y)] =-9y (3 marks)




During the exam....

Solve the following equations

Solve the following equations
(@) 2[3-4(G-y)]=-9y

Solve the following equations
(@ 2[3-4(5—-y)]=-9y

(@ 2[3-4(G-y)]=-9y

Zi;szw%/);/%y 2(3-2.€5) = -y

—

7 - ; 6 — 4o - Q‘/ = -dy
é«@@/ﬁ{{/ _ -4 = =gty
(U (1 3 =
Y 1
e y= 3F

)/ \
N




Answer key

3.  Solve the following equations

(a) 2[3—4(5-—y)] =-9y (3 marks)
2(3 — 20 + 4y) = —9y 1M
2(—17 + 4y) = —9y
—34 + 8y = —9y 1M
17y = 34
y =2 1A

1M - method mark
1A - answer mark




During the exam....

Student A Answer key
Solve the following equations
(@) 2[3-4(5-y)]=-9y 3. Solve the following equations

i (a) 2[3-4(5-y)]=-9y
V)(\S/%*q/>3/q/ 2(3 —20 + 4y) = =9y 1M
‘ 2(-17 + 4y) = —9y

@@Q/)(X{/ 2 X —34 + 8y = —9y IM

Pl T b l Fa 17y = 34
(-Y) = 0

\ /L y=2 1A
- A\
| |




Student A

Gets 1 mark




During the exam....

Student B Answer key
Solve the following equations
(@ 2[3-4G-y)]=-9y 3.  Solve the following equations
(@) 2[3-4(-y)]=-9y
2(3-2.€4y) = -
(3-2 \j) / 2(3—20+4y) = -9y IM
b —bg=By =%y 2(=17 + 4y) = =9y
b4 £ “Ay+tiy —34 +8y = -9y 1M
SIT o 17}? = 34

Y= RF




Student B

Gets 1 mark




During the exam.....

Student C Answer key
Solve the following equations
(@) 2[3-4(5—1y)] =-9y 3. Solve the following equations
@) 2[3-4(G-y)]=-9
2(3—20+4y) = -9y 1M
2(—=17 + 4y) = =9y
—34 + 8y = —9y 1M
17y = 34

y =2 1A




Student C

Gets 0O mark
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During the exam....

2. Consider the formulad= — 65—6 fd=-24, find c. (2 marks)

{ = e
a2 -
4l = b°
¢ 5
’—]20: Le

C= ~7o
v




During the exam....

2. Consider the formulad= — % fd=-24, find c. (2 marks)
_ _bc
—120= LT
C= =78 /
/4

Redad the question carefully




Complete ........

» Check the answer.....

TO-DO LIST

» Double check....

» Triple check....




Conclusion

Spend 1 min to read all the questions

Try and attempt all the questions

Presentation of work

Check the paper finally




PTA Exam Skills Workshop - L&S

Subject - Life and Society

Types of Questions in Tests and Exams

Section A Multiple Choice Questions
Section B Fill in the Blanks
Section C Word Corrections
Section D Short Questions
Section E Data based Questions (Statistics descriptions, data analysis and arguments)
Activity - Question Analysis Module 10 Managing Finance — Banking Services
Section D Short Questiong
e.g.  What are the main types of deposit services provided by banks?
List TWO and briefly explain. (4 marks)
Topic Explanation

The THREE main types of deposit services provided by banks include:
e Current deposit: Depositors can use cheques for daily transactions but
cannot receive any interest.

Deposit e Savings deposit: Depositors can withdraw deposits any time but only
services enjoy a lower interest rate.

e Time deposit: Although depositors can enjoy a higher interest rate, they
can withdraw their deposits only after a specific time period. Otherwise,
they will lose all the interest.

[Section E Data based Questions|
e.g.  ‘Depositors of current deposits cannot receive any interest. Therefore, savings deposits are
better than current deposits.” Do you agree with this opinion? Explain briefly. (4 marks)
Criteria Marks
»  Stance clearly stated with strong arguments
»  Comparison between TWO deposits clearly indicated 3-4
» Explanation with clear perspectives and comprehensive reasoning
»  Stance stated with less clear arguments/arguments not complete
» Referred to ONE deposit only 1-2
» Illustrated with inadequate reasoning
»  Stance stated with NO argument
» Did not attempt answering 0
» Irrelevant answers




PTA Exam Skills Workshop - L&S

Marks

Samples (0-4)

Student A
Disagree.

It is because many of the people nowadays needs to have daily
transaction at any time. If not, they will have to bring along a large amount
of money in the saving deposits. So, current depositslis} more flexible and
convenient than saving deposits.

appears as a grammatical mistake in the answer.

Student B

No, because although you can’t get any interest from current deposit, you

will have a book and you can draw a to others to give
money to them but don’t need to take any money from the bank. It is more
convenient.

appears as a spelling mistake in the answer.

Student C
Yes, I agree with this opinion.

It is because this deposits offer no interest to depositors.

Student D
No, I totally disagree.

Student E

Disagree. People can use cheques to do daily transaction with current
deposit. Therefore, people do not need to bring along a large amount of
cash and can do a large amount of cash transaction. Saving deposits do
not allow you to write a cheque. Therefore, a current deposit is more
useful. ’

Student F

No, I don’t agree with it. Although current deposit cannot any interest, it
can be very useful in a wide range of situations. Recently, saving deposits
receive extremely low interest. Therefore, it makes almost no difference
to save money in current deposit than saving deposit. Current deposit is
convenient.




PTA Exam Skills Workshop - L&S

Subject - Life and Society

Types of Questions in Tests and Exams

Section A Multiple Choice Questions
Section B Fill in the Blanks
Section C Word Corrections
Section D Short Questions
Section E Data based Questions (Statistics descriptions, data analysis and arguments)
Activity - Question Analysis Module 10  Managing Finance — Banking Services
Section D Short Questiong
e.g.  What are the main types of deposit services provided by banks?
List TWO and briefly explain. (4 marks)
Topic Explanation

The THREE main types of deposit services provided by banks include:
e Current deposit: Depositors can use cheques for daily transactions but
cannot receive any interest.

Deposit e Savings deposit: Depositors can withdraw deposits any time but only
services enjoy a lower interest rate.

e Time deposit: Although depositors can enjoy a higher interest rate, they
can withdraw their deposits only after a specific time period. Otherwise,
they will lose all the interest.

Section E  Data based Questions|

e.g.  ‘Depositors of current deposits cannot receive any interest. Therefore, savings deposits are
better than current deposits.” Do you agree with this opinion? Explain briefly. (4 marks)

Criteria Marks

Stance clearly stated with strong arguments

Explanation with clear perspectives and comprehensive reasoning

Comparison between TWO deposits clearly indicated 3-4

Stance stated with less clear arguments/arguments not complete

Illustrated with inadequate reasoning

Referred to ONE deposit only 1-2

YV V V|V V VIV V V

Stance stated with NO argument

Irrelevant answers

Did not attempt answering 0




PTA Exam Skills Workshop - L&S

Samples Marks
(0-4)
Student A
Disagree.
It is because many of the people nowadays needs to have daily transaction at any 4

time. If not, they will have to bring along a large amount of money in the saving
deposits. So, current deposits |is*| more flexible and convenient than saving deposits.

appears as a grammatical mistake in the answer.

Student B

No, because although you can’t get any interest from current deposit, you will have a

book and you can draw a to others to give money to them but don 't ?

need to take any money from the bank. It is more convenient.

Chaque*| appears as a spelling mistake in the answer.

Student C
Yes, | agree with this opinion.

It is because this deposits offer no interest to depositors.

Student D
No, | totally disagree. O

Student E

Disagree. People can use cheques to do daily transaction with current deposit.
Therefore, people do not need to bring along a large amount of cash and can do a
large amount of cash transaction. Saving deposits do not allow you to write a cheque. 4
Therefore, a current deposit is more useful.

Student F

No, I don’t agree with it. Although current deposit cannot any interest, it can be very
useful in a wide range of situations. Recently, saving deposits receive extremely low
interest. Therefore, it makes almost no difference to save money in current deposit 2
than saving deposit. Current deposit is convenient.




Integrated Science




Integrated Science

Four students are investigating different materials used to make bags. They have different ideas for scientific
investigation.

How strong is each \ Which material is the

material? best for making bags?

Which material is How heavy is each
the most resistant to material?
wear?

(a) (i) Whose idea is not a suitable idea for scientific investigation? (1 mark)

(i) Explain why the question cannot be investigated. (1 mark)




rent materials for making

il s s T T

bags. As shown in the diagram below, she pours 50 cm’ of water through each material. She then
measures the volume of water passing through each material in 30 minutes.

Another student. Joev. is investicating the waterproof abilities of four di
‘A el b el - v'J ’ AwS AD“"M.D A A e v

d ALy AL T wiw

-
C
-

Write down the names of the apparatus or instrument labelled 4, B, C and D in the above diagram.
(4 marks)




(c) In order to make it a fair test, Joey tries to classify her experiment into different variables.

(i) What is the independent variable that Joey should change in her experiment? (1 mark)

(ii) State TWO controlled variables that Joey should keep the same in her experiment. (2 marks)

(d) The table below shows the results of Joey’s experiment.

Material Volume of water passing through the material (cm”)
I 5
I 3
I 10
I\Y 7
What conclusion can you draw according to the above results? Briefly explain your answer. (2 marks)




(a) Emphasize on Application
® Theme — Scientific Investigation (fair test)

® Scenario — Materials to make bags

Dependent Variables Independent Variables Controlled Variables (What
(What to be measured?) (What to be changed?) to be kept constant?)

Strength, Weight,

- : T f material ize. Thick
Resistance to Wearing ypes ol materials Size, Thickness

® Exam skill: Transfer of knowledge to an appropriate scenario (e.g. materials for

making planes)



(b) Use of Science Language and Jargon, 1.e. speak/write like a scientist
® Precision: e.g. made dirty = contaminated by stain/acid/etc
® Technical terms/keywords
- Apparatus (e.g. Bunsen burner, filter funnel, stopwatch)

- Concepts (independent variable, dependent variable, controlled variables)

(d)
® Drawing conclusions: should involve interpretation rather than quoting the numbers

from the table



